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Candidates shoubd read the following instructions carefully and fill in all the required particulars before answer-
ing the questions:

{2) The candidates must check that the Question Boaklet has 80 questions with multiple choice answers immediately
after opening the seal. Each MOQ) carries one mark.

(3] Answers will have to be given on the OME Answer Sheet supplied for this purpose. Cuestion nuntbers progress
from 1 10 80 with options shown as (A), (B), {C) and (D).

{4y OMR Answer Sheets will be processed by electronic means. Hence, invalidation of Answer Sheet resulting
due to folding or putting stray marks on it or any damage to the Answer Sheel as well as incomplétefinoor-
rect filling of the Answer Sheet, will be the sole responsibility of the Candidate.

{5} Use Black Ball Pen to mark your answers.

(6] While answering, choose only the Correct/Best option from the four cheicas given in the question and mark the
same in the corresponding circle in the Answer Sheel enly. Answers without any response shall be awarded
zero mark. Wrong respense or more than one response shall he treated as incorrect answer. For every
incorrect answer one-third {1/;) mark of that Question will be deducted.

(7) Darken with Black Ball Pen compleiely only ene option which you think comect as shown in the figure bl
CORRECT METHOD WRONG METHOD
eC C o OYoR=X)
(&)} Mark the answets only in the space provided. Please do not make any suay marks on the Answer Sheet
{9) Rough work may be done on the space provided in the Question Booklew

{107 Please hand over the OMR Answer Sheet to the Invigilator before leaving the Examination Hall,
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memmhuufwusruu:buysmhemmﬂnmdlmund-ubkmruurmhsufdimfwmﬂm
is
(A) 24 B 12 wa o) od
l:t'r.ml:mofﬁmuquaﬂm:’-r{l—ﬁi}:—t(ht}:ﬂh—!-rl,ﬁmﬂnnﬂmmh
(A -1 ® = © 1 o %
Three sats A, B, C are such thet A = B~ C and B = C A, then
{A) AcB ® A=-B C) A=B D) AcBE
The sum of the infinite series (3) —(3) —(3) .....
1 3
1@3 ® log2 © Elng,z © fond
=x x 2
mmd:fmwﬁnhhgimmwi:[ 2_;— will be non-singular are
n -]

(&) -25x52 {B) for all x other than 2 and -2
C) x22 D x3-2

any_ (PR

) -
(A afi=0 B osf=2o (C) a+p = 2o+l M o+ =H2In+l],
nis an integer.
The principal value of sieran - 5—;‘)&
x

w ¥ ® -5 © 3 o -5
The value of cos = ﬁww—mhj:—: &

L i o
s ® -5 © 1 1]

1 4, b, ¢ be in Arithmetic progression, mﬁtvﬂuuf{nh—:'ﬂbw—uxﬂnm:
{A) 1habc {B) dabe {C) Babe (D) 3abe

The cquation x2 - 3jx| + 2 = [ has
(&) Mo real noot (B) Cmne real oot C) Two real mats (D) Four real roots

The principal amplitude of (siné0” +icosd0™ Is ; .
(& @ -110° C) Lo o) -1

]fhﬁ!ﬂhlﬂg;:-ﬂ-ﬂmnvﬂunfri!
(A 32 B 123 c) 625 oy 25

A person draws cul bay balls suecessively from 4 bag con@ining & red and 4 white balls. The
probability that ulﬂ.ﬂmufm will be red is

48 L
A o 'I:B}W ) 3 m}m
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If three real numbers 2, b, ¢ are in Harmanic Progression, thea which of the following is true 7
@ Le !l aeinap ® = L L oaeinne

{C} ab. b, caare in HP. )]

A mapping {1 N —» N where N is the set of naural numbers is defined as
f(a) = il for nodd
fin)=2n+1 forneven

forne M.

Then fis

(A} Surjective but nol injective (B) Injective but not sucjective
(C) Bijective (D) Meither injective nor surjective

= N = ; i
If the magnitude of the coefficient of X7 in the expansion of (ul +i) o where a, b sre positive

numbers, is equal to the magnitude of the coefficient of x7 in the expansion of (u—#)!. then
a and b are commected by the relation

iAa) ab= I, B ab=2 ) atb=1 (D) shi=2

The mapping £ : N — N given by fin) = I+n%, ne N where N is the set of natuesl numbers, is
{A) One to one and onte B Onbe but ot one-10-one

(C) One-to-one but not onto (D) Neither one-to-one BOT o0

A and B are two points on the Argand plane such that the sepment AB is bisecred at the poent (0, 0).
If the poini A, which is in the third quadrant has principal amplitude 8, then the principal amplitude
of the point B is

Ay -8 (B m-@ C) B=-x D =+

Afunction f: A —+ B, where A = (xf-12x<1]and B = [y/ | Sy 52} is defined by the ruls
¥ = fix) = 1 + x2 Which of the following statements is then true 7

{A)} f is injective bur not surjective (B fis surjective but not mjective

L) fis both injective and surjective (D) fis neither injective nor susfective

The function f(x) which satisfies fx) =ﬂ—n=5‘ff is given by

2 -]
(A fix)=e* ®) ﬁuuéc"‘ © =" ) gr=t

l=x2 , forx«<|
A function fix) is delined as fallows for real x I‘i’x]:{ 0 . forx=1
l+x% , forx>1
Then
(A) fix) is not contimuous at x = |
(B) f{x)is continuwous bul not differentiable at x = |
(C) f(x)is both continunws and differentiablbe a0 x = |
M) fix) ks continuous everywhers bul dilferentiable nowhens

Select the comrect statement from (A}, (B), (C1, (D). The function fix) = ael =
[A) strictly increasss i the inlarval (%.1) B} increases in the interval (0, =)
(€] decreases in the intarval (0, 2) (D} strictly decreases in the interval (1, =)

2
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The equation * + %= | =0 hit, apart from 1 =0 iy
(A} One other real oot B) Two real roots
{C) Mo other real root D) Infinife number of real roots
The function fix) = ™ + £, 2> 0.is monotonically increasing for
(A) =lex<] B <=1 ) x>l Dy x>0
For two complex numbers z;, 2; the relation fz +25 = k| + 22l holds if
(A) arglz} = arglzy) B) mr:l‘-rlrgl;]:%
) nm=1 o l=l

If "*c, ="iC,,, then the valuz of B, is
) 31 ®) 120 © 210 M) 340

10
ﬁcmﬂ?ﬂlﬂuﬂf:’wh(:&’-:) Is
(&) —252 ® -210 © -5 m - 120

if the marrix | 2 7 | is commutative with the marix [‘; 'l]m .
(A) a=0,b=e, B b=(.o=d ) c=0,d=a Oy d=l, a=b
oo e
If 1, o, w? are cube roots of unity, then |&'® | g | has value
' ﬂ!" 1

(%) 0 | w ) o My &+ w
]'_.u.ﬁ.-,[l,?,:ij:ﬂ]]:[lll},ﬂmwﬁd&nfﬂufulhwhgmhﬁnmi:aﬁmﬂinuﬁnﬁﬁmﬂ?
(A) {(1.2), (2,30, (340, (2.2)} B {02 (3 (1.3Y
1) {(1.3),2.3), 3.3 @) {(1.1).(23) 34
One possible condition for the three points (a,b), {ba) and (¢, -b%) to be collinear is .
A) a-b=2 B atb=2 {C) am14b D) a=I-b
If the m™ term and the 0™ term of an A P. are respectively 'jl; and #,ﬂwn the (mm}® om of the
AP is

1 fm n
(A = @ iy 1 o
oy
| sin®x costx dx equals
=y

! L
(A) 20 B 20 o I 330
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The function fix) =log )m.rﬁnﬁl.t equation
(A Mxsd) - Hh+lJ+ﬂIJ::|=U 1 fix)+ Masl)= fxix+11
{0y )= fy)s :'—::;) D) fxy) = fxHiy)
£

1= _[;.:.fg;:.—.d:-hu!wnh

X
A E ® In ) n Dy 'i'
Em-}‘mm.mmwmh
) o ®) hixhn) (C) hixy-hix) (D) hixkehi)

The value of {1 — @+ 0 + (1 +a-o?), where o and of are the complex cubs mots of unity is
) 0 B} 32a iy =32 o 3R

The degres of the differential equation [l#(ﬁ)’]!&-ﬁ
W1 ® 5 © 2 o 3

The differential equation of ail las whose axes are parallel to y-anisis
w oo ® D o8B o ELE,0
de ded g™ et Y

The solution of the differential equation ﬂuwﬂﬁ is

(A) eF=g' - %0, :mgmm et = g, nﬂmmngmm
(C) e?=g*+e*+¢, cintsgrating constant (D) &7 +&* + ¢ =g, © misgating constant

]
The valve of the integral f|x?-1|dx is
]
W 0 ®) 2 © —% ) -2

If x = e'sint, y-u'mﬂtlmdzr alx=is

l 1 2
(A) 2e% ® e €50 @™
I‘M!ﬂmﬂ%ﬂn=§,lﬂnyhﬁmhr=uﬂ‘+ﬁ is
1 1 1
(A) 14— ® 1 © —= 1-—=
\‘2:': Vix = Vin

The value of [|cosx|dx is
a

(A) In @ 2 {cy

H [
=)
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The value af [ (ax%+bx®+ex + k) dx, whete & b, ¢, kare constants, depends only on
4
[A) aandk B azndb (C) a,band c M k
3
I-Ht= v
tA) & m; 0 € ¥ © a
=i i 1N,
The valug of the limit ilm (nﬂ + M!*. ...... + M) 7
(A) Tog2 Eﬂj g i) 1 m) logd

T onder and degee of the following differeniial equation [u-(QI) ]5”i LY are respectively

(A} 3.2 B 3,10 ) 2.3 m 35

The differential equation of the family of circles passing through the fixed points (a, 0) and (—a, 00 is
(R yilyaly+ 2uy 447 =0 (B) yiyl+xy+exi=0

iC) yyly'—xi4a?) + Iuy = O M ylyiend)=2ay #22 =0

The differential equation of the family of curves ¥ = e¥(acosx + hsinx), where a and b are arbitrary
constants, is given by
(A) yrdytSy=0 (B Zyryi#Sy=0 (C) ypedySy=0 D) yrly+Sy=0

(A) =Log.§ B) =log2 () =loga o =a

Rolle's theorem iz not applicable to the funection fix) = x| for -2£x £2 because

{A) fis continuous for -25x22 (B fis pot derivable forx = O

C) A-2=H2) (D) {is not & constant function

The equation of the circle which passes through the points of intersection of the circles
xieyi6x =0 and xi+yi-6y =0, and has iumm:al(z AT

A
(A) 12y 24dn4dyed =0 B) aleyi3xsdy =0
(€ aley-du-dy =0 ) abeyidn-3y+0=0

If 2y = a and 3y+dx = 0 are the equations of a pair of conjugate diameters of an ellipze, then the
eccentricity of the ellipse is

m\ﬁ_ m}ﬂJﬁ- LCJ'\!%_ ml\l’i_

mmmﬂmmﬂﬂmmr=l+ﬂ,ﬂmy-1ds.nmm straight line y = 5 15 given by
A T stwm-e- units () %ﬂqumuﬂiu (C} 5 square units I Iiﬂ'-:qummﬁu

Ifl{anptmm,ﬁmxta(:+l;).y=b(1—-|t)mm
(4] An ellipse (B) Acircle (0 A pair of straight lines (D) A hyperbola
5
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TMIh‘EWMEh'ﬂpunﬂsltﬂx-uinndmmenﬂsmrmy:*ﬂr;axanmg!cﬁ'is
1
W y=| ® y=1 © y=1 @ y=4

The distance between the lines $x—12y+65 =0 and 5a—12y-39 = 0 is
(A) 4 B 16 ) 2 ) &

Themmdhuhuf&mﬁmtcfpu‘pmdbmh:ﬁmn{tﬂjmlteﬁuy-m+im
WG @) ©@GY o)

The equation (x—x,}x—xz) + (= )¥-¥;) = 0 represents a circle whose centre is

Arky ¥io¥a Aty ¥ot¥a
'[""5'( R ) T e )
2 (% yad D (%1, ¥2)

The chcles x4y finedy = 0 and 'x24y3=125-12y =0
{A) cut orthogonally (B) toucheach other internally
{C) intersect in two points D) twuch each other externally

The two parabolas x¥ = 4y and y? = 4x meet in two distinet points. One of these is the origin and
the other s
A (2.2) {B) {(4,-4) ) (4.4 o =223
The veriex of the parabola x24+2y = 8x—T is
2 Ed 9 T
W (2‘“) ® (4.3) © ("2) o (4':)
If P{at?, 2at) be one end of a focal chord of the parabola y? = 4ax, then the lenpth of the chord is

o a(I_%)l ® "( —%) © t+i‘)- o .(H,%)’

The length of the common chord of the parabolas ¥¥ = x and x%= y is

W 2V2 @ 1 ©¥i. o=
V2
mwm'ﬂndﬁwhﬁuwﬁmu[ﬂﬂ}mmfﬂ.mh
2 3
W EeT=1 @ nlasens © Tadi=l @) slispa2
The ares included between the parabolas ¥ = dx and 22 = 4y is
) § sq, units (B) B sq, units © Bsquis  © 125 unis
The locus of the centres of the circles which touch both the swes is given by
(A) s2yt=0 B x+yt=0 ) xy?=| @) x4yt=1
The sum of the series (142) + (142422 + (14242929 4 oo up to n teems 8 |
{A) 224 B 221 1 2y o 21
6
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The equation V3 sinx + cost = 4 has
(A 1nfinitely many sofutions
{C) two solutions

The valoe of tang + 2an{2e) + dtanida) +
(A eot(Za) B Z'un(2'a)
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2 ..,f;
(L] 5 ) Y3
(B} o soluden
M oaly ope solution

cor b 2 ean(2™ e + o0t 2) is

o D oot

Out of § givea points, 3 are collinear. How muany different straight lines can be drawn by joining

any two points from those § points 7
(&) 26 | 28

o T 25 '

How many odd numbers of six significant digits can be formed with the digits 0, 1,2, 5, 6, T when

oo digit is repeated?

A 120 @) 9%

{C) 360 v 238

Lat c, P be the roots of x# - 2xeoss + | =0, then the equation whose roots are a®, p° is

(A} ¥*-Zxcosmg—1=0
() a?=2nsinmg+1=0

B x*-Ixcosmg+1=0
D) x*+2xsinng—-1=0

The 1ztus rectum of an ellipse is equal to one-half of its minor axis. The eccentricity of the ellipse is

g pE] ¥3 1
Ay 2 ® 5 L5 Ry o 5
A particle i3 projected vertically upwards and is at @ beight h afier ¢ seconds and again after &y
seconds then
(A h=gtt; ® h=gen  © h=fuy © b=VahG
: gub_|
‘The vahse of the limit xl-‘d pEw
w 3 ® 3 © -3 o) -1
The limit Lt —=>—= is
P I N o
() 10V @) +w (C) o {D) Does not exist
The range of the function fx) = log, V4 -x? is given by
(A} (0,0 (B (o, ) 1), (== log2) o (g2, =)
Ses overleal
for Bengali Version
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(Bengali Version)
e CeEhTcen wwr vl Rt i o ) S ceeoe @ (BRI T T
(a) 24 ® 12 ) 1 o 54
x4 (13- 214} = 0 Fewan ol Fraw -1+ o o Pl v
W) 1 m S © i o) 2i
fef o A, B, C 2%t WA =BAC 0B =Cr A, T
(A) AcB B AsB C) A=B D) AcE
(%)2 %G)t-k; %)5+ wraeernas ol EEAT CEOTIEE (U
i I 1 I
(A Elug.i B Ehg.ﬂ <) ghg.z 1] Iiﬂﬁg

-x a1 2
l-ﬂmmmwﬂm[ 2 x-x |=FE o el En
x=1
(A} -25rs2 B 27 -2 TES (F CEE X - o W

) x=2 M xs-2
[:1.1
s )
(A) a+p=0 @) af=2n (C) a+f=2ns] D) a+f = Alnsl),
n S ey
ﬁn-ﬂm(-if)ﬂﬁmm
z n n B
1A) 4 B -3 <) 2 o 2
X Ix dx &«
o8y Thas ThauiT] o W i
L o
@ 6 - Tl e
a, b, 70 v 2T W, WA (a4 2b-c){Zbrc-alns 2bc) o TH B
{4) 16shc B) 4ahc {C) Babe (D} Sabc
x2 -3z + 2 = 0 Fmml
{A) vt ot Ther wfE; Bl T e s
(C) o = Fror wm ) e ot e wme
{aindll +fcos80™) ¥ Sy owile 34 oo o
A 70 B =10 ©y e -7
logs lops logy X = 0 909 x o 75 59
(A} 32 ® 125 C) 625 o 25
1
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s et 68 o & 4T oA o w0 et AT e T A Con o e )
AR

78 30 48 12
(Al o ® 5 € 5 ® 5
e e ] a, b, ¢ WD #MBTS (Harmonic Progression) ¥RTs Frafafe awefin g
el 7

| 1 e

1l ekl
(A a.hcmmm (B} k.u.tbwmﬁmm
(C) ab, be, ca ¥ Aefire =g o) %EE Tt mefEr g

TEED W (0 N ow Sera anfl e 12 N - N i S wme
fin) = o* n WY
fini=2n+1 nIUEA

TH e N

WA [ 3

(A) Beififiaq Ry e (@) o fry G w

(C) Bofafbad @ Jtes Bav 9¥Y D) Beiffad ¢ otvs fbad oAlE =8

(axhﬁ)'-wmu?mm Wﬁ(u4ﬁ5 " e - s W s
R i (3, b w1 3), OT0 a 0 b o a0y s e

(A) ab=1, B) ab=2 C) ath=1 D) ab=2

N T e e e o 5 T8 £ N — N Baft <3 e fin) = 1+ ne N B
() fateE o B feam ) [ EwiEf mme g

(Cy fetes fog Befafiay = D) o om Sailhey ooty

A ¢ B f 5 wmeme wrE Gem WiE 49 AR Gl (0,0) R mfefew o A sl
wilte Fyefi wiE, AL A R B GRS 01 SR B O A G

{A) -0 | m-8 ) f-x o) n+d

f:A— Bl B3, P A= (x/-lsxs]} 0B ={y/]|sys?] e e 73
y = fix = 1 +x*1 R To=pols w0 @ B 199

A [l s iz, fm Sfifwin @ [oof S-Rffe Ry o Form

(©) [Eeffa & am-a= Bam (D) [Eeiffnd ¢ gsan Bad ol =

(8 Sl nm=ﬂ-x}=ﬂ:} a8 =l oz v ol T

1 .
W fo=pe” ®) fx)=ge™
2 i
(€ fix)=x" @ fx=et®
a2 TfAx<l

U ol e i(n) SR e W, VR A A, fix)=4 0, TH=x=|
1+x! ., qug unl

3

(A) fix), x =1 e e =T

B fix), x = | RH0E 795 e =EAEEEE) T2

(C) fix), x =1 TErs e g9: WEamOm

D) f(x) i 5 ey (SRR A A
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(A), EBY, (C), (D) Pafa®m vy el =fies

fix) = xets wreall

(A} (i,z)wwimr- (B) 10, =) Twcn THar

(Cy (0, 2) e EwE (O (1, oo} W09 T504 TPT9A

% = 0EE et + 1~ 1 = 0 Fifnafln

(A ol 2 TR W (B) 0 TR T g

(T} S FEE A T A (D) ST AP AR

a0 fix) = 4 ¢~ wrereal (oW W W 3

(A} -l<x<l B x<-I Wy x>=l ) x=0

o w2y, 2, T izl = byl + ] 1 e T AR

(A) arg(ay) = arg(zs) T B) anglay) + acplzy) =y T

C) zzp=1 4 @ [l =gl ¥

ﬂﬁ‘%;nlﬁ;“lﬂﬁﬁﬂﬂﬁﬁJHH

TVRE] @ 120 iCy 210 ) 840
i

(x= ﬁ) o " vz Tl o'

(A) —1252 B -210 €y -3 - 120

e 1] s [} ] sotren e evecar ww o
(A a=0.b=c¥m B b=0c=d¥a@ () c=0,d=a¥™ (0 d=0,a=hiF

1 o e
A 1, o, w? FEEF | E TR R (6 | o | SR
e N!h 1 |
(&) 0 B a i) w M o+

W A=11.2 3} 4B = {2, 3, 4} T, wes Py refalim oy ol A TE B 5 o
LW BT

(AF {01.2). (230 (34, (220} @ ({12235 (13)

() 1013, (2.3, (33} @ {123, (34

Fess e (o), (h,a) <7 (a2, b7) TR wowE ol = 5

A} a-b=2 B ath=12 C} a=1+b ) a=1-bH

o o ﬂﬁumﬂﬁ?ﬂn—ﬁﬂﬂwimﬁnmmm’ﬂﬂm

! m n
(A oo {B) - w1 e 3
"y
J‘sin‘lm&’ﬂ.dﬁ-ﬂ‘ﬂﬁﬂ
—*f3

L : 1
() 56 ® 20 ©o o o

1]

Hote:The Information provided here is only for reference It may vary the

Driginal .



34

15

I

9

41.

43,

www .examtime.co

345689

Hﬂ-h;(ll—_tf wermeafh i w0

(A) 42 - 200x 1) + ) =0 (B) 1)+ Kual) = Hx(x+1])
o =
©) m+ﬁﬁ-f(|+w) D) fixsy)= RO Hy)

.
wrins
W i= jmn Y, W 1 - T
-R

w I c) = (]

=

0]

| H

=R hix =J:h‘t¢ﬂ.mmw-ﬂ*ﬁ

lix)

“ {B) hixhix) (C) hix}-hix) @) Blx)+hin)
T o 0T oo, - W T T, WA (L o+ a7} 4 (] + BT Pl W 2R
A o B X 0 =32 o 32

[+ (2T 5t et

" | ® 5 © 5 @ 3
(0 ] R T - N R w0 e i e
dy
(A %-B B %:ﬂ (5] g-&-‘g‘:ﬂ 4] E‘-+d‘+)‘ =10

g-w+wmaﬂwﬂmm

(A) ef=gi—epo. o TEEE 9 (B) ei=cT -t ¢ sl .
(C) &7 =8+ 46, ol WA 55T (D) ¢TS4 =g ¢ infh =N G

1

[ - 1]dx o sy o= 0

]
1
A 0 ® 2 © 3 @ -2
nzwmmr-e’mmnum‘i;‘; s
1 2
() 262 @ ;& oo o %

d
ya:x'lﬂq-*f;m xngﬂ diﬂ‘l‘l

il o -
m}H*J:I_u e E}i:; y

"
[ |cosx |dn o TR =
v

W 2% ® 2 © 2 o =

P
m
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